

NEW ASSORTMENT POTATO AND PLANT TOWER

RESH HARVEST IN THE SMALLEST SPACE **IDEAL FOR BALCONIES & TERRACES**

NEW ASSORTMENT

MADE FROM WOOD **FSC® CERTIFIED PRODUCTS FOR**

GROWING & CULTIVATION

NEW ASSORTMENT Томато Рот

SELF-WATERING WITH FLEXIBLE CLIMBING AID

VALID FROM SEPTEMBER 1ST 2023 - ALL PRICES ARE VALID UNTIL CANCELLED -



TERMS & CONDITIONS

Terms are valid from September 1st 2023 - All prices are valid until cancelled

- · Delivery only in original units, no partial quantities
- Unreturned euro-pallets are charged with € 19.95 each
- · Terms of payment: 30 days net, unless otherwise agreed
- · Agreed-upon terms remain valid
- Error, change and availability reserved
- Our Standard Terms of Sale apply

Austria, France, Belgium, Netherlands, Luxembourg, Denmark, Poland

- Minimum order value: € 850 net
- Free delivery for orders above € 1,700 net
- For orders between € 850 and € 1,700 we will charge freight costs

Switzerland

- Minimum order value: € 850 net
- For deliveries to Switzerland we will generally charge freight costs
- Freight and customs charges will be determined and invoiced order related

All other european countries

- Minimum order value: € 850 net
- Free delivery for orders above € 2,300 net
- For orders between € 850 and € 2,300 we will charge freight costs



Authorised signatory, Sales and Marketing Director

Dirk Stelzer

+49 (0)4106 7099-0 dirk.stelzer@romberg.de

Romberg GmbH & Co. KG Werner-v.-Siemens-Str. 13 25479 Ellerau, Germany

E-Mail: info@romberg.de Tel.: +49 (0)4106 7099-0 Fax: +49 (0)4106 7099-32

www.romberg.de



Customer Service

Aylin Geffken

+49 (0)4106 7099-20 aylin.geffken@romberg.de



Customer Service

Arnold

+49 (0)4106 7099-24 marion.arnold@romberg.de



Key Account Manager Promotional Merchandise

Thorsten Mentzel

+49 (0)4106 7099-0 thorsten.mentzel@romberg.de



Propagators

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	16294170	40 05728 90602 9	40 05728 20602 0	BoQube Flexi Garden Vertical and horizontal planting system, 52 x 20 x 26 cm horizontal established, 26 x 20 x 52 cm vertical established incl. wall fixing kit, set of 2 color: light grey	6	18,37€	110,22€	8
	16294171	40 05728 90601 2	40 05728 20601 3	BoQube Flexi Garden Vertical and horizontal planting system, 52 x 20 x 26 cm horizontal established, 26 x 20 x 52 cm vertical established incl. wall fixing kit, set of 2 color: anthracite	6	18,37€	110,22€	8
THE THE PART	16294169	40 05728 90607 4	40 05728 20607 5	BoQube L PLUS Propagator & plant box system, 41 x 17 x 23 cm very sturdy, with ventilation color: anthracite-summer green	4	21,97€	87,88€	9
	52941.0	40.05728.90591_6	40 05728 20591 7	BoQube L PLUS Propagator & plant box system, 41 x 17 x 23 cm, vory sturdy, with ventilation blor: www.mourple	4	21,97€	87,88€	9
	16294.9	40.0571 90408	40,0571 - 8 8	Boyaco-L PLUS Propagator inplant occupatem, 41 x/17 x 22 cm, very sturdy, with cultilation polor: created apper	4	21,97€	87,88€	9
	16294195	40 05728 90514 5	40.000 205,4 6	Budube Cover M 37 x 15 Com, and bry sturdy, with rentilation in anthracite	10	3,00€	30,00€	10
	16294167	40 05722000 2 8	40 5728 20¢09	E QuberraXM 37 x 10.6 cr ven sturdy color: anthracite-sun	10	2,50€	25,00€	10
	1554173	40 05728 90594 7	40 05727 205 8	5 Nube Cover 1 2019 x 12 cm, very sturdy with vertilation in white	10	3,00€	30,00€	10
	294172	40 05728 55 4	40.577 B 20595	BoQui of Tray M 37 x 12 x C ery dy color: white purple	10	2,50€	25,00€	10
	16994192	40 05728 90512	40 05728 20312 2	BoQube Couer M Sy Lin 2x 12 em, vry sturdy, with ventilation in cream	10	3,00€	30,00 €	10
	16291193	40 05728 90511 <	10,05728,20511,5	BoQuberray M 37 x 19x 6 cm, valet tyrdy bolitetream-copper	10	2,50€	25,00€	10
				-				3

Propagators

ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
16294194	40 05728 90510 7	40 05728 20510 8	BoQube Cover S 28 x 12 x 8 cm, very sturdy, with ventilation in anthracite	12	2,25€	27,00€	11
16294168	40 05728 90610 4	40 05728 20610 5	BoQube Tray S 28 x 12 x 5 cm, very sturdy color: anthracite-summer green	12	2,00€	24,00€	11
16294175	40 05728 90592 3	40 05728 20592 4	BoQube Cover S 28 x 12 x 8 cm, very sturdy, with ventilation in white	12	2,25€	27,00€	11
16294174	40 05728 90593 0	40 05728 20593 1	BoQube Tray S 28 x 12 x 5 cm, very sturdy color: white-purple	12	2,00 €	24,00€	11
16294196	40 05728 90508 4	40 05728 20508 5	BoQube Cover S 28 x 12 x 8 cm, very sturdy, with ventilation in cream	12	2,25€	27,00€	11
16294197	40 05728 90507 7	40 05728 20507 8	BoQube Tray S 28 x 12 x 5 cm, very sturdy color: cream-copper	12	2,00 €	24,00€	11

ACCESSORIES

			/ \(\)					
	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	16293095	40 05728 90598 5	40 05728 20598 6	Avocado Kit for growing an avocado plant, Ø 15cm color: summer green	8	4,00€	32,00€	12
11	16293096	40 05728 90597 8	40 05728 20597 9	Cultivation accessories mini-shovel & dibber color: anthracite	12	2,00€	24,00 €	12
	16293093	40 05728 90606 7	40 05728 20606 8	Vertical mini planters 14,5 x Ø 9 cm, set of 3, incl. accessories color: summer green	8	5,00€	40,00€	12
	16293094	40 05728 90600 5	40 05728 20600 6	Mini plant pots 14,5 x Ø 9 cm, 3er color: summer green	8	4,50€	36,00€	12
	16293091	40 05728 90659 3	40 05728 20659 4	Hydro Plant Kit Stylish, self-watering plant pot. Set incl. accessories and organic parsley seed.	8	8,98€	71,84€	13
NEW	16293085	40 05728 90683 8	40 05728 20683 9	Universal handspreader Up to 900 ml filling volume, for spreading sand,road salt and grit in winter or fertiliser and seed in sum- mer, 4 stages control color: anthracite-summer green Available from September 2023	12	4,00€	48,00€	13
	16293097	40 05728 90596 1	40 05728 20596 2	Watering can with integrated scoop function 1.000 ml, with practical scale and ergonomically shaped handle color: anthracite	6	3,00€	18,00€	13
	16293090	40 05728 90660 9	40 05728 20660 0	Watering cup 250 ml, with practical scale, for easy dosed watering during the growing phase color: anthracite	18	1,00€	18,00€	13
	Packaging ch	40 05728 90410 0 nangeover during the curr presentation is provided i	ent season.	Piketten Set Write-on label holder & mini-dibber, set of 5 color: anthracite	8	1,50€	12,00€	13
	16291499	40 05728 90411 7	40 05728 20411 8	FRESH-BOX Cultivation set Herbs 10 Bio-degradable pots 6 cm round 2x 1 liter substrate 5x seeds (Basil, Parsley, Thyme, Chives, Oregano) 5x Pikette and instruction	12	4,00€	48,00€	-
	16291498	40 05728 90412 4	40 05728 20412 5	SPICY-BOX Cultivation set Chili & Paprika 10 Bio-degradable pots 6 cm round 2x 1 liter substrate 4x seeds (2x chili, 2x paprika) 5x Pikette and instruction	12	4,00€	48,00€	-

LED & HEATING

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
200 PT THE T	16294393	40 05728 90608 1	40 05728 20608 2	BoQube L PLUS LED Propagator & plant box system 41 x 17 x 23 cm, very sturdy, with ventilation + LED plant light, 20 cm, 5 watt color: anthracite-summer green	4	44,45€	177,80€	14
(parting)	16294398	40 05728 90544 2	40 05728 20544 3	BoQube L PLUS LED Propagator & plant box system 41 x 17 x 23 cm, very sturdy, with ventilation + LED plant light, 20 cm, 5 watt color: cream-copper	4	44,45€	177,80€	14
	16294394	40 05728 90605 0	40 05728 20605 1	BoQube M Plus LED 37 x 19 x 12 cm, very sturdy + LED plant light, 20 cm, 5 watt + heating mat S STYLE 40 x 15 cm, 5 watt, color: anthracite-summer green	6	46,68€	280,08€	15
<u> </u>	16294396	40 05728 90546 6	40 05728 20546 7	BoQube M Plus LED 37 x 19 x 12 cm, very sturdy + LED plant light, 20 cm, 5 watt + heating mat S STYLE 40 x 15 cm, 5 watt, color: cream-copper	6	46,68€	280,08€	15
	16293121	40 05728 90549 7	40 05728 20549 8	Heating mat S STYLE 40 x 15 cm, 14 watt, fits for propagators BoQube M and L PLUS	4	17,48€	69,92€	15
	16293120	40 05728 90548 0	40 05728 20548 1	LED plant light 20 cm, 5 watt, incl. power supply and mounting kit	1	29,67€	29,67€	15

GREEN EDITION

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
////	16293086	40 0572890638 8	40 0572890638 9	Piketten Set Green Edition Write-on label holder & mini-dibber, set of 5 color: moss green	8	1,50€	12,00€	16
	16293089	40 0572890635 7	40 0572890635 8	Watering cup Green Edition 250 ml, with practical scale, for easy dosed watering during the growing phase color: moss green	18	1,24€	22,32€	16
11	16293087	40 0572890637 1	40 0572890637 2	Cultivation accessories Green Edition mini-shovel & dibber color: moss green	12	2,49€	29,88€	16
margare	16294159	40 0572890639 5	40 0572890639 6	BoQube L PLUS Green Edition Propagator & plant box system 41 x 17 x 23 cm, very sturdy, with ventilation color: moss green / reed green	4	27,24€	108,96€	17
•	16294156	40 0572890642 5	40 0572890642 6	BoQube Cover M Green Edition 37 x 19 x 12 cm, very sturdy, with ventilation in moss green	10	3,50€	35,00€	17
	16294155	40 0572890643 2	40 0572890643 3	BoQube Tray M Green Edition 37 x 19 x 6 cm, very sturdy color: moss green / reed green	10	3,00€	30,00€	17
	16294158	40 0572890640 1	40 0572890640 2	BoQube Cover S Green Edition 28 x 12 x 8 cm, very sturdy, with ventilation in moss green	12	2,50€	30,00€	17
	16294157	40 0572890641 8	40 0572890641 9	BoQube Tray S Green Edition 28 x 12 x 5 cm, very sturdy color: moss green / reed green	12	2,25€	27,00€	17



Propagators

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	12094301	40 05728 90142 0	40 05728 20142 1	Maximus Complete LED Propagator 59 x 39 x 27 cm, with ventilation, very sturdy + 2x LED plant light, 20 cm, 5 watt + Heating mat 55 x 35 cm, 38,5 watt + Digital thermostat ,HortiSwitch" + Tray with 77 pellets	1	153,09€	153,09€	20
	10294120	40 05728 90420 9	40 05728 20420 0	Propagator XXL 59 x 39 x 27 cm, with ventilation, very sturdy, shatterproof cover Packed as loose items	4	18,48€	73,92€	20
	12094306	40 05728 90320 2	40 05728 20320 3	Climatic M LED Propagator 38 x 24 x 19 cm, with ventilation, very sturdy + Heating mat 35 x 25 cm, 17,5 watt + LED plant light, 20 cm, 5 watt + Digital thermostat "HortiSwitch"	1	95,19€	95,19€	21
	12094307	40 05728 90543 5	40 05728 20543 6	Lumio M LED Propagator 38 x 24 x 19 cm, with ventilation, very sturdy + LED plant light, 20 cm, 5 watt	6	37,29€	223,74€	21
0.	12094303	40 05728 90144 4	40 05728 20144 5	Thermo M Propagator 38 x 24 x 19 cm, with ventilation, very sturdy + Heating mat 35 x 25 cm, 17,5 watt	б	25,13€	150,78€	21

ACCESSORIES

ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
12093122	40 05728 90555 8	40 05728 20555 9	HortiSwitch Thermostat 3.0 Digitally controlled, with timer and temperature sensor (app. 2,50 m sensor cable), three sockets	1	41,80€	41,80€	22
12093103	40 05728 90082 9	40 05728 20082 0	HortiSwitch Thermostat Digitally controlled, with timer and temperature sensor (app. 2,50 m sensor cable), two sockets	1	40,39€	40,39€	22
16293120	40 05728 90548 0	40 05728 20548 1	LED plant light, 20 cm, 5 watt incl. power supply and mounting kit	1	30,75€	30,75€	22
12093023	40 05728 90074 4	40 05728 20074 5	Hang-A-Lamp Reflector hanger, 150 cm with 2x app. 40 kg lifting capacity	20	5,49€	109,80€	22
12091005	40 05728 90011 9	40 05728 20011 0	Coco Plug Tray 55 x 33 x 3 cm with 77 coir pellets	10	6,99€	69,90€	22

ACCESSORIES

ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
71000K		40 05728 71000 8	Coir pellets 36 mm Ø, loose items	1500	- €	124,98€	22

Scissors

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	12093014	40 05728 90065 2	40 05728 20065 3	Crop Scissors "Easy" High quality crop scissors	10	6,49€	64,90€	23
SALE	12093015	40 05728 90066 9	40 05728 20066 0	Crop Soissors "Deluxe" High quality crop soissors	10	7,48€	74,80€	23
de.	12093016	40 05728 90067 6	40 05728 20067 7	Crop Scissors "Bonsai" High quality crop scissors	10	6,48€	64,80€	23
	12093017	40 05728 90068 3	40 05728 20068 4	Crop Soissors "Curved" High quality crop scissors	10	7,98€	79,80€	23

HEATING SYSTEMS

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
0.	16293121	40 05728 90549 7	40 05728 20549 8	Heating mat S STYLE 40 x 15 cm, 14 Watt fits for propagators BoQube M and L PLUS	4	17,48€	69,92€	24
04	12093104	40 05728 90083 6	40 05728 20083 7	Heating mat S 27 x 15 cm, 10 watt Fits for propagator 29 x 19 cm	4	12,48€	49,92€	24
0.4	12093105	40 05728 90084 3	40 05728 20084 4	Heating mat M 35 x 25 cm, 17,5 watt Fits for propagator 38 x 24 cm	4	17,48€	69,92€	24
01	12093106	40 05728 90085 0	40 05728 20085 1	Heating mat L 60 x 15 cm, 20 watt Fits for propagator 58 x 19 cm	4	19,98€	79,92€	24

HEATING SYSTEMS

			,					
	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
0*	12093107	40 05728 90086 7	40 05728 20086 8	Heating mat XXL 55 x 35 cm, 30 watt Fits for propagator 59 x 39 cm	4	24,98€	99,92€	24
Q.	12093108	40 05728 90087 4	40 05728 20087 5	Heating cable S 3,5 m (1,5 m heated), 14,5 watt	10	12,50€	125,00€	24
<u>O</u>	12093109	40 05728 90088 1	40 05728 20088 2	Heating cable M 6 m (4 m heated), 30 watt	10	14,98€	149,80€	24
00	10295105	40 05728 90164 2	40 05728 20164 3	Heating cable L 10 m (8 m heated), 40 watt	1	22,48€	22,48€	25
00.	10295106	40 05728 90165 9	40 05728 20165 0	Heating cable XL 20 m (18 m heated), 90 watt	1	39,98€	39,98€	25
0.	12093110	40 05728 90089 8	40 05728 20089 9	Heating mat SkinnyHeat 55 55 x 55 cm, 60 watt, aluminium composite film	1	28,98€	28,98€	25
0	12093111	40 05728 90090 4	40 05728 20090 5	Heating mat SkinnyHeat 75 75 x 75 cm, 95 watt, aluminium composite film	1	42,48€	42,48€	25
o.	12093113	40 05728 90092 8	40 05728 20092 9	Heating mat SkinnyHeat 95 95 x 95 cm, 135 watt, aluminium composite film	1	57,48€	57,48€	25
	12093114	40 05728 90093 5	40 05728 20093 6	Heating mat SkinnyHeat 115 115 x 115 cm, 195 watt, aluminium composite film	1	84,98€	84,98€	25

GREENHOUSES AND ACCESSORIES MADE OF CERTIFIED WOOD

_			I V		OLIVIII ILD WOOD					
		ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page	
NEW		10093204	40 05728 90725 5	40 05728 20723 2	Wooden Grow Box 11x11x9 cm, incl. 1x 1 liter coir propagation substrate Pine wood, FSC® certified Available from January 2024	12	3,00€	36,00€	28	
NEW		10093206	40 05728 90725 5	40 05728 20725 6	Wooden Grow Box 21x21x9 cm, incl. 4x 1 liter coir propagation substrate Pine wood, FSC® certified Available from January 2024	6	7,48€	44,88€	28	
NEW	J.	10093205	40 05728 90724 8	40 05728 20724 9	Wooden Grow Box 31x11x9 cm, incl. 3x 1 liter coir propagation substrate Pine wood, FSC® certified Available from January 2024	б	6,48€	38,88€	28	
NEW		10093203	40 05728 90707 1	40 05728 20707 2	Wooden greenhouse M 37 x 24 x 13 cm, Incl. tray, cover and 24 bio-degradable pots 5cm, pre-assembled Pine wood, FSC® certified Available from January 2024	8	7,48€	59,84€	28	
NEW	His Cont	10093202	40 05728 90706 4	40 05728 20706 5	Wooden greenhouse L 57 x 17 x 13 cm, Incl. tray, cover and 16 bio-degradable pots 6cm, pre-assembled Pine wood, FSC® certified Available from January 2024	8	7,48€	59,84€	28	
NEW	1	10093201	40 05728 90705 7	40 05728 20705 8	Wooden dibber L 27 x 3 cm, with scale up to 17.5 cm for indicating the hole depth Pine wood, FSC® certified Available from January 2024	20	2,50€	50,00€	28	
NEW	1	10093200	40 05728 90704 0	40 05728 20704 1	Wooden Dibber S 17 x 1 cm, For sowing, planting out and separating seedlings Pine wood, FSC® certified Available from January 2024	20	2,00€	40,00€	28	

OUTDOOR GROWING AND CULTIVATION POTS

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
NEW	10093061	40 05728 90687 6	40 05728 20687 7	Potato and Plant tower Consists of four single pots with bottom perforation, Assembled 42 x 42 x 65 cm, Volume approx. 54 I (in total) color: anthracite Available from November 2023	4	10,98€	43,92€	30
NEW	10093060	40 05728 90686 9	40 05728 20686 0	Tornato pot Self-watering and with flexible climbing aid, consists of plant pot and water reservoir, 2x irrigation wick, 6x modular climbing aid with connectors and 4 plant holders 29 x 26 x 129 or 81 cm color: anthracite Available from November 2023	6	10,98€	65,88€	30

COIR PELLETS & SUBSTRATES

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
SALE	10091000	40 05728 90000 3	40 05728 20000 4	20 Coir pellets 36 mm Ø, blister	52	1,75€	91,00€	
4	10091020	40 05728 90630 2	40 05728 90630 3	20 Coir pellets 36 mm Ø, folding box	48	2,00€	96,00€	32
SALE	10091001	40 05728 90003 4	40 05728 20003 5	50 Coir pellets 36 mm Ø, blister	24	3,50€	84,00€	
	10091021	40 05728 90631 9	40 05728 20631 0	50 Coir pellets 36 mm Ø, folding box	28	4,00€	112,00€	32
SALE	10091013	40 05728 90311 0	40 05728 20311 1	100 Coir pellets 36 mm Ø, blister	17	6,48€	110,16€	
	10091022	40 05728 90632 6	40 0572890632 7	100 Coir pellets 36 mm Ø, folding box	14	6,98€	97,72€	32
	10091002	40 05728 90006 5	40 05728 20006 6	6 Coir pellets 70 mm Ø	32	2,75€	88,00€	32
12 Date		40 05728 90048 5 nangeover during the curr presentation is provided i		Coir propagation substrate 2,5 liter bag	15	1,50€	22,50€	32
	Packaging ch	40 05728 90048 5 nangeover during the curr presentation is provided i	rent season.	Coir propagation substrate 2,5 liter bag, pallet with 560 bags	560	1,35€	756,00€	32
	24091205	40 05728 90050 8	40 05728 20050 9	Coir swell soil, compressed, expands to app.7-8 l substrate	36	1,50€	54,00€	32
	Packaging ch	40 05728 90042 3 nangeover during the curr presentation is provided i		POP UP soil - Propagation 1-Liter-Pack, compressed Counter display 24 x 22 x 12 cm	32	1,40€	44,80€	32
		40 05728 90042 3 nangeover during the curr presentation is provided i		POP UP soil - Propagation 1-Liter-Pack, compressed	250	1,27€	317,50€	32
	16291299	40 05728 90429 2	40 05728 20429 3	POPUP BOX Propagation soil, compressed 5x 1 liter pack	3	5,00€	15,00€	33



GROWING SETS

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
NEW	10091493	40 05728 90685 2	40 05728 20685 3	Tomato cultivation kit "Red Cherry & Roma" 10 Bio-degradable pots 6 cm round, 2x 1 liter substrate, 2x seeds, 2x wooden plant label Available from November 2023	12	3,50€	42,00€	33
NEW	10091494	40 05728 90684 5	40 05728 20684 6	Vegetable cultivation kit "Cucumber and Zucchini" 10 Bio-degradable pots 6 cm round, 2x 1 liter substrate, 2x seeds, 2x wooden plant label Available from November 2023	12	3,50€	42,00€	33
	10091211	40 05728 90604 3	40 05728 80949 8	Seed balls in counter display 6 seed balls, 2 assorted	48	3,49€	167,52€	33
2. 11	10094236	40 05728 90603 6	40 05728 20603 7	Cress Grow Kit, green 15 x 11 x 5,5 cm, incl. 2x organic cress seeds	15	3,75€	56,25€	33

BIO-DEGRADABLE POTS

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
1 CO	10091100	40 05728 90017 1	40 05728 20017 2	26 Bio-degradable pots 6 cm round	20	1,75€	35,00€	34
	Packaging ch	40 05728 90036 2 nangeover during the curr presentation is provided i		96 Bio-degradable pots 6 cm round XL PACK	20	5,49€	109,80€	34
	10091101	40 05728 90020 1	40 05728 20020 2	18 Bio-degradable pots 8 cm round	20	1,75€	35,00€	34
	Packaging ch	40 05728 90037 9 nangeover during the curr presentation is provided i		48 Bio-degradable pots 8 cm round XL PACK	24	4,00€	96,00€	34
	Packaging ch	40 05728 90023 2 nangeover during the curr presentation is provided i	rent season.	10 Bio-degradable pots 11 cm round	15	2,60€	39,00€	34
E	10091105	40 05728 90032 4	40 05728 20032 5	22 Bio-degradable pots 6 cm square	16	1,75€	28,00€	35
i.e	10091106	40 05728 90035 5	40 05728 20035 6	14 Bio-degradable pots 8 cm square	20	1,75€	35,00€	35
0	Packaging ch	40 05728 90026 3 nangeover during the curr presentation is provided i		36 Bio-degradable pots 5 cm square, 6 strips with 6 pots	17	1,75€	29,75€	35
	10091104	40 05728 90029 4	40 05728 20029 5	24 Bio-degradable pots 6 cm square, 4 strips with 6 pots	24	1,75€	42,00€	35
	Packaging ch	40 05728 90038 6 nangeover during the curr presentation is provided i		144 Bio-degradable pots 5 cm square, 8 strips with 18 pots XL PACK	20	5,98€	119,60€	35

Propagators

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	10094101	40 05728 90112 3	40 05728 20112 4	Propagator S COLOR 9 x 19 x 19 cm, with ventilation, very sturdy, 4 different colours (grey, berry, creme, navy)	8	3,75€	30,00€	36
	10294121	40 05728 90515 2	40 05728 20114 8	Propagator M COLOR 38 x 24 x 19 cm, with ventilation, very sturdy, shatterproof cover, 3 different colours (grey, berry, navy)	15	4,25€	63,75€	36
6	10094102	40 05728 90113 0	40 05728 20113 1	Propagator M 38 x 24 x 19 cm, with ventilation, very sturdy, shatterproof cover	б	4,98€	29,88€	36
	10294117	40 05728 90330 1	40 05728 20330 2	Propagator M 38 x 24 x 19 cm, with ventilation, very sturdy, shatterproof cover Packed as loose items	15	4,25€	63,75€	36
	10292020	40 05728 90330 1	40 05728 60330 0	Propagator M 38 x 24 x 19 cm, with ventilation, very sturdy, shatterproof cover Packed as loose items, display carton 60 x 40 x 99 cm	80	4,00€	320,00 €	36
	10094104	40 05728 90115 4	40 05728 20115 5	Propagator L 58 x 19 x 19 cm, with ventilation, very sturdy, shatterproof cover	8	7,50€	60,00€	36
	10294120	40 05728 90420 9	40 05728 20420 0	Propagator XXL 59 x 39 x 27 cm, with ventilation, very sturdy, shatterproof cover Packed as loose items	4	17,48€	69,92€	36

GREENHOUSES

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	10094201	40 05728 90130 7	40 05728 20130 8	Greenhouse XS PLUS COCO 16 x 11,5 x 11 cm + 6 coir pellets	60	2,00€	120,00€	38
	10094216	40 05728 90321 9	40 05728 20321 0	Greenhouse S PLUS COCO 27,5 x 11,5 x 11 cm + 12 coir pellets	30	2,50€	75,00€	38
11111	10094105	40 05728 90116 1	40 05728 20116 2	Greenhouse M 36 x 22 x 13 cm	36	3,00€	108,00€	38



GREENHOUSES

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
2000000	10094202	40 05728 90131 4	40 05728 20131 5	Greenhouse M PLUS COCO 36 x 22 x 13 cm + 28 coir pellets	13	4,98€	64,74€	38
-TETEL	10094214	40 05728 90314 1	40 05728 20314 2	Greenhouse M PLUS POTS 36 x 22 x 13 cm + 24 Bio-degradable pots 5 cm square	11	4,00€	44,00€	38
	10094106	40 05728 90117 8	40 05728 20117 9	Greenhouse L 54 x 15 x 12 cm	34	3,00€	102,00€	38
8. H	10094203	40 05728 90132 1	40 05728 20132 2	Greenhouse L PLUS COCO 54 x 15 x 12 cm + 20 Coir pellets	30	4,98€	149,40€	39
Non a main and	10094215	40 05728 90317 2	40 05728 20317 3	Greenhouse L PLUS POTS 54 x 15 x 12 cm + 16 Bio-degradable pots 6 cm square	10	4,50€	45,00€	39
AND AND A MARKS.	10094211	40 05728 90204 5	40 05728 20204 6	Greenhouse L PLUS PP 54 x 15 x 12 cm + 18 Plastic Pots 6 cm square	10	4,25€	42,50 €	39
	10094204	40 05728 90133 8	40 05728 20133 9	Greenhouse XL PLUS PP 54 x 28 x 12 cm + 36 plastic pots 6 cm square	16	6,50€	104,00€	39
	10094237	40 05728 90624 1	40 05728 20624 2	Cultivation Set 4 pcs. 36 x 22 x 13 cm, 4 trays, 4 covers, 4 inlays with 24 plastic pots 4x5 cm each Available from September 2023	14	7,48€	104,72€	39

NEW

Pot Trays & Seed Dishes

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	10294010	40 05728 90105 5	40 05728 20105 6	Multipot tray 38 pots 50 x 30 x 6 cm, 38 pots 6 cm round, app. 6 mm bottom hole, PS 0,6 mm	25	2,15€	53,75€	40
	10294009	40 05728 90104 8	40 05728 20104 9	Multipot tray 51 pots 50 x 30 x 5 cm, 51 pots 5 cm round, app. 6 mm bottom hole, PS 0,6 mm	30	2,15€	64,50€	40
	10294008	40 05728 90103 1	40 05728 20103 2	Multipot tray 73 Pots 50 x 30 x 5 cm, 73 pots 4 cm round, app. 6 mm bottom hole, PS 0,6 mm	35	2,15€	75,25€	40
	10294011	40 05728 90106 2	40 05728 20106 3	Multipot base 50 x 30 x 3 cm, PS 0,6 mm Fits for all multipot trays	50	2,15€	107,50€	40
<u>b</u>	10294001	40 05728 90096 6	40 05728 20096 7	Seed dish M 38 x 24 x 6 cm, without holes, very sturdy (PP)	15	1,90€	28,50€	40
EB	10294019	40 05728 90553 4	40 05728 20553 5	Cover M 38x24x13 cm, with ventilation, very sturdy	15	2,50€	37,50€	40
	10294005	40 05728 90100 0	40 05728 20100 1	Pot tray 54 pots 50 x 32 x 4 cm, 54 pots 4 cm square, PS 1,6 mm	25	4,98€	124,50€	41
	10294006	40 05728 90101 7	40 05728 20101 8	Pot tray 24 pots 50 x 32 x 6 cm, 24 pots 6 cm square, PS 1,6 mm	25	4,98€	124,50€	41
	10294003	40 05728 90098 0	40 05728 20098 1	Seed dish 50 x 32 x 6 cm, ribbed, without holes, PS 1,6 mm	25	4,98€	124,50€	41
	10294004	40 05728 90099 7	40 05728 20099 8	Cover 50 x 32 x 12 cm, PET 0,5 mm, for all seed dishes and pot trays 50 x 32 cm	25	4,50€	112,50€	41
	10294002	40 05728 90097 3	40 05728 20097 4	Seed dish XXL 59 x 39 x 6 cm, without holes, very sturdy (PP)	17	7,17€	121,89€	41

GARDEN ACCESSORIES

	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
New York Street	10093102	40 05728 90623 4	40 05728 20623 5	Knee cushion 41 x 20 x 4,5 cm colour: black Available from September 2023	20	2,50€	50,00€	42
	10293000	40 05728 90051 5	40 05728 20051 6	Dibbers with practical scale, packed as loose items colours: light green & dark green	100	0,50€	50,00€	42
	10295000	40 05728 90147 5	40 05728 20147 6	Cold protection + early harvest cover 28 cm Ø, with ventilation holes and fixing feet colour: white	12	3,00€	36,00€	42
	10293010	40 05728 90061 4	40 05728 20061 5	Label plates 12 cm, 7 pcs. colour: yellow	20	0,90€	18,00€	42
	10293048	40 05728 90518 3	40 05728 20518 4	Wooden Label plates 10 cm, 20 pcs.	20	1,50€	30,00€	42
	10293003	40 05728 90054 6	40 05728 20054 7	Propagation Set 1 manual hand seeder, 1 dibber, 6 labels, 1 pencil	24	2,50€	60,00€	42
	10293006	40 05728 90057 7	40 05728 20057 8	12 Plastic Pots 9 cm square colour: black	18	1,75€	31,50€	43
	10293008	40 05728 90059 1	40 05728 20059 2	20 Plastic Pots 7 cm square colour: black	25	1,75€	43,75€	43
	10293047	40 05728 90421 6	40 05728 20421 7	50 Plastic Pots 7 cm square XL Pack colour: black	18	3,25€	58,50€	43

GARDEN ACCESSORIES

ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
10293005	40 05728 90056 0	40 05728 20056 1	15 Plastic Pots 13 cm round colour: terracotta	18	2,75€	49,50€	43
10293007	40 05728 90058 4	40 05728 20058 5	18 Plastic Pots 9 cm round colour: terracotta	18	2,00€	36,00€	43
10293009	40 05728 90060 7	40 05728 20060 8	22 Plastic Pots 6 cm round colour: terracotta	30	2,00€	60,00€	43
10293046	40 05728 90406 3	40 05728 20406 4	20 Plastic Pots 8 cm square 5 colours mixed colours: purple, light blue, pink, yellow, light green	18	3,00€	54,00€	43

DISPLAY 1 - 1/4 PALLET

			,					
Tray	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
	10092240		40 05728 60688 2	DISPLAY 1 - 1/4 Pallet 60 x 40 x 183 cm Consists of 6 trays Incl. header card and two posters Available from November 2023	1		518,36€	44
Tray 1	10091101	40 05728 90020 1		18 Bio-degradable pots 8 cm round	20	1,75€	35,00€	34
Tray 2	10091100	40 05728 90017 1		26 Bio-degradable pots 6 cm round	18	1,75€	31,50€	34
	10091106	40 05728 90035 5		14 Bio-degradable pots 8 cm square	8	1,75€	14,00€	35
Tray 3	10091103	40 05728 90026 3		36 Bio-degradable pots 6 strips with 6 pots 5 cm square	12	1,75€	21,00€	35
	10091105	40 05728 90032 4		22 Bio-degradable pots 6 cm square	14	1,75€	24,50€	35
Tray 4	10094203	40 05728 90132 1		Greenhouse L PLUS COCO 54 x 15 x 12 cm + 20 Coir pellets	16	4,98€	79,68€	39
Tray 5	10091021	40 05728 90631 9		50 Coir pellets 36 mm Ø folding box	24	4,00€	96,00€	32
	10094216	40 05728 90321 9		Greenhouse S PLUS COCO 27,5 x 11,5 x 11 cm + 12 coir pellets	30	2,50€	75,00€	38
Tray 6	10091022	40 05728 90632 6		100 Coir pellets 36 mm Ø folding box	16	6,98€	111,68€	32
	10094105	40 05728 90116 1		Greenhouse M 36 x 22 x 13 cm	10	3,00€	30,00€	38

DISPLAY 2

DISPLAY 1



DISPLAY 2 - 1/4 PALLET

Tree		EAN unit	FAN outer work	Description	Unit. /	List Price	List Price /	Catalogue
Tray	ArtNo.	EAN unit	EAN outer pack	Description	carton	/ unit	carton	page
	10092250		40 05728 60689 9	DISPLAY 2 - 1/4 Pallet 60 x 40 x 183 cm Consists of 6 trays Incl. header card and two posters Available from November 2023	1		455,15 €	45
Tray 1	10091104	40 05728 90029 4		24 Bio-degradable pots 4 strips with 6 pots 6 cm square	10	1,75€	17,50€	35
	10091102	40 05728 90023 2		10 Bio-degradable pots 11 cm round	6	2,60€	15,60€	34
Tray 2	16294193	40 05728 90511 4		BoQube Tray M 37 x 19 x 6 cm colour: cream-copper	10	2,50€	25,00€	10
	16294192	40 05728 90512 1		BoQube Cover M 37 x 19 x 12 cm with ventilation in cream	5	3,00€	15,00€	10
	16294196	40 05728 90508 4		BoQube Cover S 28 x 12 x 8 cm, with ventilation in cream	7	2,25€	15,75€	11
	16294197	40 05728 90507 7		BoQube Tray S 28 x 12 x 5 cm colour: cream-copper	12	2,00€	24,00€	11
Tray 3	16294167	40 05728 90609 8		BoQube Tray M 37 x 19 x 6 cm colour: anthracite-summer green	10	2,50€	25,00€	10
	16294190	40 05728 90514 5		BoQube Cover M 37 x 19 x 12 cm, with ventilation in anthracite	5	3,00€	15,00€	10
	16294194	40 05728 90510 7		BoQube Cover S, 28 x 12 x 8 cm, with ventilation in anthracite	7	2,25€	15,75€	11
	16294168	40 05728 90610 4		BoQube Tray S 28 x 12 x 5 cm colour: anthracite-summer green	12	2,00€	24,00€	11
Tray 4	10293046	40 05728 90406 3		20 Plastic Pots 8 cm square 5 colours mixed (purple, light blue, pink, yellow, light green)	12	3,00 €	36,00€	43
	10293008	40 05728 90059 1		20 Plastic Pots 7 cm square colour: black	16	1,75€	28,00€	43
Tray 5	10293007	40 05728 90058 4		18 Plastic Pots 9 cm round colour: terracotta	8	2,00€	16,00€	43
	10293005	40 05728 90056 0		15 Plastic Pots 13 cm round colour: terracotta	9	2,75€	24,75€	43
Tray 6	16291299	40 05728 90429 2		POPUP BOX Propagation soil compressed 5x 1 liter pack	12	5,00€	60,00€	33
	10091020	40 05728 90630 2		20 Coir pellets 36 mm Ø folding box	24	2,00€	48,00€	32
	10094202	40 05728 90131 4		Greenhouse M PLUS COCO 36 x 22 x 13 cm + 28 coir pellets	10	4,98€	49,80€	38

DOUBLE-MIX-DISPLAY - 1/2 PALLET

	ArtNo.	EAN unit	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
NEW	10092560	40 05728 60690 5	Doppel-Mix-Display - 1/2 Pallet 60 x 80 x 183 cm Consists of 12 trays Incl. two header cards and four posters Available from November 2023	1		944,01 €	46

Side A



Side B



Double-Mix-Display - Content

Tray	ArtNo.	EAN unit	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page
Tray 1	10091101	40 05728 90020 1	18 Bio-degradable pots 8 cm round	20	1,75€	35,00€	34
Tray 2	10091100	40 05728 90017 1	26 Bio-degradable pots 6 cm round	18	1,75€	31,50€	34
	10091106	40 05728 90035 5	14 Bio-degradable pots 8 cm square	8	1,75€	14,00€	35
Tray 3	10091103	40 05728 90026 3	36 Bio-degradable pots 6 strips with 6 pots 5 cm square	12	1,75€	21,00€	35
	10091105	40 05728 90032 4	22 Bio-degradable pots 6 cm square		1,75€	24,50€	35
Tray 4	10094203	40 05728 90132 1	Greenhouse L PLUS COCO 54 x 15 x 12 cm + 20 Coir pellets	16	4,98€	79,68€	39
Tray 5	10091021	40 05728 90631 9	50 Coir pellets 36 mm Ø folding box	24	4,00€	96,00€	32
	10094216	40 05728 90321 9	Greenhouse S PLUS COCO 27,5 x 11,5 x 11 cm + 12 coir pellets	30	2,50€	75,00€	38
Tray 6	10091022	40 05728 90632 6	100 Coir pellets 36 mm Ø folding box	16	6,98€	111,68€	32
	10094105	40 05728 90116 1	Greenhouse M 36 x 22 x 13 cm	10	3,00€	30,00€	38
Tray 1	10091104	40 05728 90029 4	24 Bio-degradable pots 4 strips with 6 pots 6 cm square	10	1,75€	17,50€	35
	10091102	40 05728 90023 2	10 Bio-degradable pots 11 cm round	6	2,60€	15,60€	34
Tray 2	10091103	40 05728 90026 3	36 Bio-degradable pots 6 strips with 6 pots 5 cm square	12	1,75€	21,00€	35
	10091105	40 05728 90032 4	22 Bio-degradable pots 6 cm square	14	1,75€	24,50€	35
Tray 3	10091100	40 05728 90017 1	26 Bio-degradable pots 6 cm round	18	1,75€	31,50€	34
	10091106	40 05728 90035 5	14 Bio-degradable pots 8 cm square	8	1,75€	14,00€	35
Tray 4	10293046	40 05728 90406 3	20 Plastic Pots 8 cm square 5 colours mixed (purple, light blue, pink, yellow, light green)	12	3,00€	36,00€	43
	10293008	40 05728 90059 1	20 Plastic Pots 7 cm square colour: black	16	1,75€	28,00€	43
Tray 5	16294167	40 05728 90609 8	BoQube Tray M 37 x 19 x 6 cm colour: anthracite-summer green	10	2,50€	25,00€	10
	16294190	40 05728 90514 5	BoQube Cover M 37 x 19 x 12 cm, with ventilation in anthracite	5	3,00€	15,00€	10
	16294194	40 05728 90510 7	BoQube Cover S 28 x 12 x 8 cm, with ventilation in anthracite	7	2,25€	15,75€	11
	16294168	40 05728 90610 4	BoQube Tray S 28 x 12 x 5 cm colour: anthracite-summer green	12	2,00€	24,00€	11
īray б	16291299	40 05728 90429 2	POPUP BOX Propagation soil compressed 5x 1 liter pack	12	5,00€	60,00€	33
	10091020	40 05728 90630 2	20 Coir pellets 36 mm Ø folding box	24	2,00€	48,00 €	32
	10094202	40 05728 90131 4	Greenhouse M PLUS COCO 36 x 22 x 13 cm	10	4,98€	49,80€	38

Міх & Матсн

Our POS highlights - fresh and variable display trays including communication material. Assemble your displays individually within our mix-and-match system. The minimum order quantity is 6 trays with free selection under tray 1 to 12. Further orders always in steps of 6.



Single tray 60 x 40 x 24 cm

Available from November 2023

MIX & MATCH

Tra	y	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page	
M Tra	Tray M1	10092241		40 05728 60691 2				35,00 €	49	
		10091101	40 05728 90020 1		18 Bio-degradable pots 8 cm round	20	1,75€	35,00€	34	
	Fray M2	10092242		40 05728 60692 9				45,50 €	49	
		10091100	40 05728 90017 1		26 Bio-degradable pots 6 cm round	18	1,75€	31,50€	34	
		10091106	40 05728 90035 5		14 Bio-degradable pots 8 cm square	8	1,75€	14,00€	35	
	Tray M3	10092243		40 05728 60693 6				45,50 €	49	
		10091103	40 05728 90026 3		36 Bio-degradable pots 6 strips with 6 pots 5 cm square	12	1,75€	21,00€	35	
		10091105	40 05728 90032 4		22 Bio-degradable pots 6 cm square	14	1,75€	24,50€	35	
	Tray M4	10092244		40 05728 60694 3				79,68 €	49	
		10094203	40 05728 90132 1		Greenhouse L PLUS COCO 54 x 15 x 12 cm + 20 Coir pellets	16	4,98€	79,68€	39	
M Tra	ay M5	10092245		40 05728 60695 0				171,00 €	49	
		10091021	40 05728 90631 9		50 Coir pellets 36 mm Ø folding box	24	4,00€	96,00€	32	
		10094216	40 05728 90321 9		Greenhouse S PLUS COCO 27,5 x 11,5 x 11 cm + 12 coir pellets	30	2,50€	75,00€	38	
N Tra	Tray M6	10092246		40 05728 60696 7				141,68 €	49	
		10091022	40 05728 90632 6		100 Coir pellets 36 mm Ø folding box	16	6,98€	111,68€	32	
		10094105	40 05728 90116 1		Greenhouse M 36 x 22 x 13 cm	10	3,00€	30,00€	38	
	Tray M7	10092251		40 05728 60697 4				33,10 €	49	
		10091104	40 05728 90029 4		24 Bio-degradable pots 4 strips with 6 pots 6 cm square	10	1,75€	17,50€	35	
		10091102	40 05728 90023 2		10 Bio-degradable pots 11 cm round	6	2,60€	15,60€	34	

Available from November 2023

MIX & MATCH

Tray	ArtNo.	EAN unit	EAN outer pack	Description	Unit. / carton	List Price / unit	List Price / carton	Catalogue page	
Tray M8	10092252		40 05728 60698 1				79,75€	49	
	16294193	40 05728 90511 4		BoQube Tray M 37 x 19 x 6 cm colour: cream-copper	10	2,50€	25,00€	10	
	16294192	40 05728 90512 1		BoQube Cover M 37 x 19 x 12 cm with ventilation in cream	5	3,00€	15,00€	10	
	16294196	40 05728 90508 4		BoQube Cover S 28 x 12 x 8 cm, with ventilation in cream	7	2,25€	15,75€	11	
	16294197	40 05728 90507 7		BoQube Tray S 28 x 12 x 5 cm colour: cream-copper	12	2,00€	24,00€	11	
Tray M9	10092253		40 05728 60699 8				79,75€	49	
	16294167	40 05728 90609 8		BoQube Tray M 37 x 19 x 6 cm colour: anthracite-summer green	10	2,50€	25,00€	10	
	16294190	40 05728 90514 5		BoQube Cover M 37 x 19 x 12 cm, with ventilation in anthracite	5	3,00€	15,00€	10	
	16294194	40 05728 90510 7		BoQube Cover S 28 x 12 x 8 cm, with ventilation in anthracite	7	2,25€	15,75€	11	
	16294168	40 05728 90610 4		BoQube Tray S 28 x 12 x 5 cm colour: anthracite-summer green	12	2,00€	24,00€	11	
Tray M10	10092254		40 05728 60700 1				64,00 €	49	
	10293046	40 05728 90406 3		20 Plastic Pots 8 cm square 5 colours mixed (purple, light blue, pink, yellow, light green)	12	3,00€	36,00€	43	
	10293008	40 05728 90059 1		20 Plastic Pots 7 cm square colour: black	16	1,75€	28,00€	43	
Tray M11	10092255		40 05728 60701 8				40,75 €	49	
	10293007	40 05728 90058 4		18 Plastic Pots 9 cm round colour: terracotta	8	2,00€	16,00€	43	
	10293005	40 05728 90056 0		15 Plastic Pots 13 cm round colour: terracotta	9	2,75€	24,75€	43	
Tray M12	10092256		40 05728 60702 5				157,80 €	49	
	16291299	40 05728 90429 2		POPUP BOX Propagation soil compressed 5x 1 liter pack	12	5,00€	60,00€	33	
	10091020	40 05728 90630 2		20 Coir pellets 36 mm Ø folding box	24	2,00€	48,00€	32	
	10094202	40 05728 90131 4		Greenhouse M PLUS COCO 36 x 22 x 13 cm + 28 coir pellets	10	4,98€	49,80€	38	

GENERAL TERMS AND CONDITIONS OF SALE (GTCS)

Romberg GmbH & Co. KG, Werner-v.-Siemens-Str.13, 25479 Ellerau, Germany

1. Scope of application and contracting partners

1.1 The present General Terms and Conditions of Sale (hereinafter "GTCS") shall become the content for all offers, deliveries and services of Romberg GmbH & Co. KG (hereinafter "Romberg") in relation to its customers. The GTCS apply in particular to contracts for the sale and/or delivery of movable goods (hereinafter "goods"), regardless of whether Romberg manufactures goods itself or purchases them from suppliers.

1.2 Deviating, conflicting or supplementary General Terms and Conditions of the customers shall only become part of the contract if and to the extent that Romberg has expressly agreed to their validity. The requirement for consent shall also not be waived if Romberg accepts the delivery to the customer without having objected to its General Terms and Conditions or in the event that the customer refers to its GTC when confirming an order.

1.3 The present GTCS shall only apply in business transactions with entrepreneurs pursuant s 14 BGB - German Civil Code, i.e., natural or legal persons or partnerships with legal capacity who, when concluding the legal transaction, act in the exercise of their commercial or independent professional activity, as well as legal persons under public law and special funds under public law. Since Romberg's offer is directed only at commercial market participants, Romberg may require the customer to provide sufficient proof of its entrepreneurial status prior to the conclusion of the contract, e.g., by providing the VAT ID number or other suitable proof (trade license or similar). The data required for the proof must be provided completely and truthfully.

1.4 The provisions on general obligations in electronic commerce pursuant to s 312i (1) sentence 1 nos. 1-3 BGB shall not apply to the contract concluded between the parties.

2. Offer, conclusion of the contract

2.1 The presentation of goods in online and offline media, catalogs, flyers, brochures, advertisements and other advertising material does not constitute an offer in the legal sense, but merely an invitation to the customer to make an offer.

2.2 Romberg may accept an offer from the customer within four weeks. Purchase orders received by Romberg shall be deemed to be a binding offer by the customer to conclude the contract.

2.3 The customer is required to accept offers from Romberg within the period customary in the industry, at the latest within a period of 2 weeks. Late acceptance shall be deemed a new offer and shall require acceptance by Romberg.

2.4 The contract is concluded by the order confirmation from Romberg. The order confirmation may - at Romberg's discretion - be effected by execution of the delivery or service or by sending the invoice.

2.5 The documents belonging to the offer from Romberg, such as illustrations, drawings, indications of weight, color, packaging and dimensions of goods, are only approximative, unless they are expressly designated as binding or the usability of the object of the delivery or service for the contractually intended purpose does require an exact match. Reasonable and insignificant quality and quantity tolerances customary in the trade and deviations that occur due to legal regulations, result from the natural origin of the materials or represent technical improvements, as well as the replacement of components with equivalent parts are permissible, provided that they do not impair the usability for the contractually intended purpose. The aforementioned characteristics of goods to be delivered or services to be rendered are not guaranteed characteristics even in the case of a binding agreement, unless they are expressly designated as a guarantee.

3. Prices

3.1 The prices shall apply to the scope of delivery and services listed in Romberg's order confirmation. Additional or special services will be charged separately.

3.2 Prices are quoted in Euro ex works, plus the statutory value-added tax and any other duties, taxes, fees or other public charges that may be incurred.

3.3 The cost of packaging is included in the price, unless otherwise agreed. The shipping costs are presented according to the costs incurred for the respective country. The customer has to bear the shipping costs communicated to him.

3.4 If the agreed price is based on Romberg's price list and if the delivery is to take place more than four months after the conclusion of the contract, the prices which may have increased as a result of general price increases shall apply in accordance with Romberg's price list valid at the time of delivery (any agreed discounts shall remain unaffected and shall also apply to the changed price), whereby the customer shall have a special right of withdrawal in the event of a price increase of more than eight percent.

3.5 With the publication of a new price list or a new catalog, all previous price lists otherwise lose their validity.

4. Delivery time and delivery periods; dispatch; transfer of risk; place of performance

4.1 Deadlines and dates for deliveries and services stated by Romberg shall only be approximate unless the parties have expressly agreed on a fixed deadline or a fixed date. If shipment has been agreed, delivery periods and delivery dates shall refer to the time of handover to the forwarder or carrier.

4.2 Unless expressly agreed otherwise, delivery shall be ex works or ex warehouse, which is also the place of performance for the delivery and any subsequent performance. At the customer's request and expense, the goods shall be shipped to another destination (sale by delivery to a place other than the place of performance). If the parties have not agreed on the mode or route of shipment, both shall be determined by Romberg.

4.3 Delivery is made to the delivery address specified by the customer, unless otherwise agreed.
4.4 If a delivery deadline or delivery date cannot be met for a reason for which Romberg is not responsible, e.g. as a result of force majeure, war, riots, pandemics and pandemic-related consequences or restrictions, strikes, lockouts, import and export embargoes, seizures, embargoes, shortages of raw materials and energy, manufacturing or delivery disruptions at a supplier of Romberg or other unforeseeable obstacles that cannot be eliminated by reasonable means, Romberg shall inform the customer of this immediately and provide a new delivery date. If delivery is impossible or delayed in whole or in part through no fault of Romberg, the customer shall not be entitled to any claims for damages against Romberg. However, Romberg shall be obligated to assign to the customer any claims for compensation against the upstream supplier.

4.5 The occurrence of a delay in delivery by Romberg shall be determined in accordance with the statutory provisions. In any case, however, a reminder by the customer is required.

4.6 Partial deliveries shall be permissible if the partial delivery is reasonable for the customer, i.e., it is usable within the scope of the contractual intended purpose, the delivery of the remaining the term of te

ning part is ensured and the customer does not incur significant additional expenses and costs (unless Romberg agrees to bear such costs). This shall not affect the content of the contract, in particular the performance owed by Romberg or the agreed performance time.

4.7 The risk of accidental loss and accidental deterioration of the goods shall pass to the customer upon handover of the delivery item to the forwarding agent, carrier or any other third party designated to carry out the shipment. Decisive for the transfer of risk is the beginning of the loading process. This handover shall be the same if the customer is in default of acceptance.

4.8 If the customer is in default of acceptance, fails to cooperate or if Romberg's delivery is delayed for other reasons for which the customer is responsible, Romberg shall be entitled to demand compensation for the resulting damage, including additional expenses (e.g., storage costs). For this purpose, Romberg shall charge a lump-sum compensation in the amount of 0.5% of the price of the order per calendar week, starting with the delivery deadline or - in the absence of a delivery deadline - with the notification that the goods are ready for shipment, up to a maximum of 5% in the event of final non-acceptance. The proof of higher damages and the statutory claims of Romberg shall remain unaffected; however, the lump sum shall be credited against further monetary claims. The customer shall have the right to prove that Romberg has incurred no damage at all or only significantly less damage than the aforementioned lump sum. 4.9 The rights of the buyer and the statutory rights of Romberg, in particular in the event of an exclusion of the obligation to perform, shall otherwise remain unaffected.

5. Payment

5.1 Unless otherwise agreed in writing, Romberg's invoices shall be due for payment without deduction within 30 days of receipt of the invoice.

5.2 After expiry of this period, the customer shall be in default of payment. In the event of default in payment, the customer shall be obliged to pay default interest at the statutory default interest rate applicable at the time. With respect to merchants, Romberg's claim to the commercial due date interest rate shall remain unaffected (s 353 HGB - German Commercial Code). If Romberg accepts checks, they shall not be deemed to be fulfilled until they have been cashed. Romberg reserves the right to assert further damage caused by delay.

5.3 Romberg shall be entitled at any time, also within the framework of an ongoing business relationship, to make a delivery in whole or in part only against advance payment. Romberg shall declare a corresponding reservation at the latest with the order confirmation.

6. Reservation of title

6.1. Romberg shall retain title to the delivered goods (goods subject to retention of title) until all claims to which Romberg is entitled against the customer arising from the business relationship have been settled.

6.2. In the event of conduct on the part of the customer in breach of the contract, in particular in the event of default in payment, in the event of false information regarding his creditworthiness or if an application for the opening of insolvency proceedings has been filed, Romberg shall be entitled to withdraw from the contract in accordance with the statutory provisions and to demand the return of the reserved goods, insofar as the customer has not yet fully rendered the consideration. If the customer does not pay the purchase price due, Romberg may only assert these rights if the customer has been set a reasonable deadline for payment or if setting a deadline is dispensable in accordance with the statutory provisions.

6.3. The taking back of the reserved goods or their seizure by Romberg shall constitute a withdrawal from the contract. The customer shall bear the transport costs incurred for the taking back. Romberg shall be entitled to dispose of any goods subject to retention of title that have been taken back. The proceeds of the realization less the costs of the realization shall be offset against outstanding claims of Romberg.

6.4. The customer is entitled to resell the reserved goods in the ordinary course of business. The customer hereby assigns to Romberg all claims accruing to it from the resale in the amount of the invoice amount against purchasers or third parties. Romberg hereby accepts this assignment. The customer shall be authorized to collect the assigned claims in its own name. The authority of Romberg to collect the claim shall remain unaffected by this, but Romberg shall not collect the claim as long as the customer duly meets its payment obligations and is not in default of payment. If the customer is in default of payment, Romberg mouth and is not solve the assigned claims and their debtors, provides all information necessary for collection, hands over the associated documents and informs the debtors (its customers or third parties) of the assignment, which must be proven to Romberg immediately.

6.5. Treatment and processing of the reserved goods shall be carried out for Romberg as manufacturer, without any obligations arising for Romberg as a result. If the reserved goods are processed, inseparably combined or mixed with other objects not belonging to Romberg, Romberg shall acquire pro rata co-ownership of the new object. This shall correspond to the value of the reserved goods in relation to the values of the items not belonging to Romberg immediately before the time of their processing, combination or mixing. The co-ownership rights thus created shall be deemed to be reserved goods within the meaning of these terms and conditions. If the combination or mixing takes place in such a way that an item belonging to the customer is to be regarded as the main item, the customer shall be obliged to transfer co-ownership to Romberg on a pro rata basis insofar as the main item belongs to the customer.

6.6 The customer shall be obligated to store the reserved goods for Romberg with due commercial care and to insure them at its own expense against theft and fire and water damage. The customer hereby assigns any future claim against the insurer to Romberg, and Romberg accepts this assignment.

6.7 Goods subject to retention of title may not be pledged or assigned as security until the secured claims have been paid in full. If the goods subject to retention of title are transferred to a third party by way of security in breach of contract, the customer hereby assigns to Romberg its expectant right as well as its retransfer claim under this agreement. Romberg accepts this assignment. Access by third parties shall be reported to Romberg by the customer in writing without delay.

6.8 If the collateral provided exceeds 110% of the claims secured under this Clause 6 of the GCS (cover limit), Romberg shall be obligated, at the customer's request, to release such collateral as exceeds the aforementioned cover limit.

6.9 The customer requires Romberg's written consent for the assignment of his claims arising from the purchase contract with his customer. He affirms that he has not yet disposed of these claims in any other way.

GENERAL TERMS AND CONDITIONS OF SALE (GTCS)

Romberg GmbH & Co. KG, Werner-v.-Siemens-Str.13, 25479 Ellerau, Germany

7. Warranty; duty to inspect and give notice of defects of the customer

7.1 The existence of a defect shall be determined in accordance with the statutory provisions, with the proviso that the determination thereof shall first be based on the use of the goods contractually agreed between Romberg and the customer, or alternatively on the use of the goods presumed by the parties.

7.2 The customer's rights in the event of material defects and defects of title (including incorrect and short delivery as well as improper assembly/installation or defective instructions) shall be the statutory provisions, unless otherwise stipulated in Clause 8 (Liability).

7.3 For merchants, ss 377, 381 HGB apply with the following proviso: delivered goods are to be inspected by the customer immediately after delivery. They shall be deemed to have been approved if Romberg does not receive a notice of defects within 7 working days after delivery in the case of obvious defects or defects which are recognizable after careful examination, and in the case of other defects immediately after their discovery.

7.4 In the event of justified and timely notification of defects by the customer, Romberg shall be entitled and obligated to subsequent performance within the scope of the statutory regulations.

7.5 The customer shall be entitled to the statutory claims, if the subsequent performance fails. In the event of a replacement delivery, the buyer shall return the defective item at Romberg's request in accordance with the statutory provisions; however, the customer shall not have a right of return.

7.6 Subsequent performance does not include the removal, dismantling or deinstallation of the defective item, nor the installation, fitting or fitting of a defect-free item if Romberg was not originally obliged to perform these services; any claims of the customer for reimbursement of corresponding costs remain unaffected.

7.7 Rejected goods must be kept at Romberg's disposal. The customer shall be obligated to give Romberg the opportunity to inspect the goods. Romberg shall reimburse the expenses necessary for the purpose of subsequent performance, in particular transport, return, travel, labor and material costs, as well as any dismantling and installation costs incurred, in accordance with the statutory provisions and these GTCS, if the notice of defect is either justified or the customer was unable to establish, during the required careful inspection of the goods to be carried out in accordance with its possibilities, that the defect does not exist or that Romberg is not responsible for the defect. Romberg may demand reimbursement from the customer of the costs incurred as a result of the unjustified request to remedy the defect if the purchaser knew or was negligent in not knowing, for the reasons stated above, that there was in fact no defect.

7.8 The warranty period is one year from delivery.

7.9 Claims of the customer against Romberg for payment of damages shall be limited in accordance with the following Clause 8 (Liability).

8. Liability

8.1 Romberg shall always be fully liable without limitation for personal injury (injury to life, body and health) as well as for damage caused intentionally or by gross negligence and in the event of liability onder the Product Liability Act. This shall also include unlimited liability for fraudulent-ly concealed defects or the absence of a quality for which Romberg has assumed a guarantee.

8.2 In all cases of slight negligence, Romberg shall only be liable in the event of a breach of a material contractual obligation, limited to the foreseeable, typically occurring damage. Material contractual obligations are obligations the fulfillment of which makes the proper execution of the contract possible in the first place and on the observance of which the customer may regularly rely. There shall be no further liability.

8.3 The above limitations of liability shall also apply with regard to legal representatives and vicarious agents of Romberg.

8.4 Neither party shall be liable for non-performance or delayed performance caused by any of the following: acts of war or hostilities, sabotage, natural disasters; pandemics and pandemicrelated consequences or restrictions; power, telecommunications, and Internet outages beyond the control of the party obligated to perform; governmental or regulatory restrictions (including denial or cancellation of export or other permits); or other events beyond the control of the party obligated to perform. The same shall apply if such circumstances occur at Romberg's vicarious agent. In such a case, the performance time shall be extended to a reasonable extent. Both parties shall endeavor to minimize the effects of such events and to take appropriate countermeasures.

9. Supplier recourse

9.1 In all cases, the special statutory provisions on reimbursement of expenses in the case of final delivery of the newly manufactured goods to a consumer (supplier recourse pursuant to ss 478, 445a, 445b or ss 445c, 327 subs. 5, 327u BGB) shall remain unaffected.

9.2 In the event of a supplier recourse, the customer shall be obligated to obtain the goods provided within the scope of a subsequent delivery from Romberg, unless this is unreasonable for the customer due to an important reason.

10. Set-off and retention

10.1 The customer shall only have a right of set-off if its counterclaims have been legally established, acknowledged or not disputed by Romberg. The customer's right to set-off against contractual and other claims arising from the initiation or execution of this contractual relationship, in particular due to defects of the delivered goods, shall remain unaffected.

10.2 The customer may only exercise a right of retention if its counterclaim is based on the same contractual relationship.

11. Note on the Electrical and Electronic Equipment Act

11.1 Electrical and electronic equipment that has become waste, for example because it is defective or no longer needed, is referred to as waste electrical and electronic equipment (hereinafter: "waste electrical and electronic equipment"). Users must not dispose of old equipment with normal household waste, but must collect it separately from unsorted municipal waste. This means that old equipment must be collected and disposed of ("collected") separately by the user. This is possible, for example, via the local

collection and return systems. The symbol of the crossed-out wheeled bin shown below indicates that WEEE must be collected separately from unsorted municipal waste by the user: 11.2 The user is obliged to remove used batteries and accumulators that are not enclosed by the waste equipment or firmly attached to it before handing them over to a collection point. The same applies to lamps that can be removed from the waste equipment without destroying it. The obligation to remove does not apply if WEEE is separated in accordance with s 14 (4) sentences 4 or (5) sentences 2 and 3 ElektroG

- German Electrical and Electronic Equipment Act - in order to prepare it for reuse

11.3 According to s 17 (1) and (2) ElektroG, distributors (suppliers) of electrical and electronic equipment are obliged to take back old equipment free of charge if end users purchase a new electrical or electronic device of the same type that essentially fulfills the same functions as the new device. At the end user's request, they will also take back old equipment free of charge and irrespective of the purchase of a new electrical or electronic appliance if it does not exceed 50 cm in any external dimension. The latter is limited to five old devices per type of device and end user. Romberg will take back old equipment free of orders for new equipment if Romberg is notified of a request to take back the equipment.

11.4 Romberg has also created opportunities for users other than private households to take back and return waste appliances and dispose of them in accordance with s 19 ElektroG. The user can return these devices to Romberg free of charge by sending them back to Romberg by mail: Romberg GmbH & Co. KG, Altgeräterücknahme, Werner-von-Siemens-Str. 13, 25479 Ellerau

11.5 If you wish Romberg to take back an old device, please send an e-mail to Romberg: info@ romberg.de with the corresponding request. Upon receipt of the email, Romberg will send instructions for return, etc.

11.6 Before disposing of old devices, the user must delete his personal data on old devices so that they cannot fall into the hands of third parties. The user is responsible for this deletion of data.

11.7 Romberg is registered as a producer of electrical and electronic equipment under the WEEE registration number 10286839 with the register of "stiftung elektro- altgeräte", Nordostpark 72, 90411 Nuremberg, Germany.

11.8 In accordance with s 18 of the Electrical and Electronic Equipment Act, it is possible to obtain information on the fulfillment of national recycling targets in accordance with ss 10 (3) and s 22 (1) of the Electrical and Electronic Equipment Act via the following link: https://www. bmuv.de/themen/wasser-ressourcen-abfall/kreislaufwirtschaft/statistiken/elektro-und-elektronikaltgeraete

12. Applicable law; contract language

12.1 A contract concluded between Romberg and the customer as well as the agreements made under it shall be governed by the laws of the Federal Republic of Germany. The UN Convention on Contracts (CISG - United Nations Convention on Contracts for the International Sale of Goods of 11 April 1980) is expressly excluded.

Valid as of September 1st 2023 . All prior terms of sale are hereby superseded.







Romberg GmbH & Co. KG Werner-v.-Siemens-Str. 13 25479 Ellerau, Germany

E-Mail: info@romberg.de Tel.: +49 (0)4106 7099-0 Fax: +49 (0)4106 7099-32

www.romberg.de

